ER-IERRREE-RR

556 A8 AT
HEXEE LEMESRE

T I T X LEE
LG — R K A
MR EEELH M |EL-E=
X7 G2KkE) |RER=EHEE (12
(EWKE) |TERSEREE [132
ANEN (LS A ) Fiigi=21.6, R IRE=14.1, ZE)I5RE=15.3,
RREB)IFEE=8.7, A1 5Ri5=10.9, #2511 57i5=16.7, A F I Fiis=5.9,
SBFRE=4.6, NE)IFE=11, mJIFE=6.1, FHEIIF1EH=6.6,
FE =4, \UEIFRE=10.3, FIFRE=5.7, PFE)I;E=6.3,
AR Fati=0.6, BEFHIFRIE=14.2, A (BEZEAE) FiE=5.1,
~tﬁrﬁ§*b§&§£ %E“Iiﬁ.ﬁ@:&& %2%“'%:@2:4-6, /J\EHJII(IJJEFﬁﬁ),ﬁﬁQ#Z,
AR TR AANGEZBAE) Figi=3.8, ME)IFRti=2.7, $RE)IIF1E=5.7,
. BRI FRtE=4, HR)IFE=4.4, EET)IFE=5, ABB/IFB=48,
#ok MUBNIFRE=3, FFIGE=38, B)I5RiE=69, Ra)IFE=7,
REJNFE=7.9, BE)IFE=5.9, AXK&)IFE=3.3, BR)IFiE=48,
BKINNFRE=3.6, B&)IIFiE=45 HAIFE=9.2, SB)IFE=71,
=] FNFRE=9.2, FIR)IFiZ=6.9
. FHIIFRE=(5, 44.4), BRFRE=(5, 11.7), PRJIFRi=E=(6, 4.4),
LEE A1 Rs=(5, 8.8)
EETNSATR | (R R Ao LF], BRI (5]
W . fEE 20m/s
2R 14 EE L 25m7s
= . &L 20m/s EFES
= I
RES FHRE B 25m/s TERS
= - i 1205 % E D FES15cm
AE REORS WL 2B B E ) B 250m
KR e 2.5m
=80 AL 2.6m
X7 REW=EHEE |8
TIEWEEHELE |10
NENQUEFAE) =172, BRIIFRE=11.2, SB)IHKE=12.2,
BREB)IRIH=6.9, Fh)IIFRig%=8.7, #&)IIFRIL=13.3, FAF)IIFiEL=4.7,
HE)IFE=3.7, M%) 5Ris=8.8, M)I|FiE=4.8, FaH)IIFH=5.2,
F)IRE=3.3, WUEJIFRE=8.2, #)IE=4.6, FIR)IIFE=4.9,
A 5=7.6, BEFFE=11.3, AKX (BEZEAE) Rigi=41,
F TS e ER)IFE=2.9, B2 FFE=36, NBII(LUFEHFE) Fieh=33,
ALAERETH AANGRZEAE) Fig=3, MEFi=2.1, $R)Figi=46,
FEA)NFRIE=3.3, HR)IFTi%=3.5, JBET)IIFTig=4, ABS)IFE=3.9,
ok NUBJIFRE=2.3, FF)IfE=29, #)I1E=55 R&)I1E=56,
RENF=6.3, BE/IFE=4.7, KB /FE=2.5, A F1H=39,
FKNIRE=2.8, 24 JII5E=3.6, FTEA)IFE=73, SE)IFiEH=56,
KGRE=7.3, TIR)IGRE=55
FHJIFRE=(5 39.5), BFIFKE=(5 105), SEJIFE=(5, 12),
EaEsE™ Hib)IRE=(5, 8.7), FHIFRE=(6, 3.1), FHJIi==(5, 4.5),
FIRNIGRIE=(5, 4), RMIIFEL=(5, 7.6)
EETNSATR | (RE R A LF], BRI (%]
FE TR fE L 12m/s
# B FHRE B 15m/s
- 5 4 [ fEE 12m/s BEH#S
RS TR B 15m/s BEMS
= = 7y iy 125 EIBEE D FES5cm
AE REQRS D 2B E D EE 10om
R FEES 1.5m
=i BT 2.2m
E5 BEFICFYEENTEINDE S
ME
e o fEE 100m
= e L 500m
5] B/INEE35% TEMITE65%
*= QEEDFES50cmEL EHY BB FB10°CLLE*?
&= B REfEXERESKENFELYCLLEL
= L8 RIEKEACUT "’
&= 4ALIBEDKE RIESBACUT
&K
s 24BEBENFERS : T#h10ecml £ L#h30cmEl £
== £UR:0°C~3°C
0 6% 1 fE B R K RO 1R 3R 1RERE [110mm

NREREEY AEFERY OMAShEICLIREBERLTVET,

" SBREBMARRE . AEMES KB, LRSS RBAFOE,

Y RHOKBIIESHARERE . SHER KRBT, BRI KRB OE,
" SBRREBMARRE . S SRR, BRI SR B OE,



